o
é Qﬁ(@ neljd murtolukua, toimintojen jarjestys

Nimi: Paivamaara: Pisteet:

1 1 2 1

21 X = +3— - = —+6+ ==
37373 00> 3 %6+ 3
3 1 2 3

- = —-+1= 2X —+4— - =
> 0%3 3273 2
3 2 1 3 2 3 2 3

2+ ixZ+Z= Z_Z24txZ=
537§ 2 3 5 35
11 1 3 3 1
355 4 8x 357373
13 1 1 1111

24X = Xt - =
526 3 273763

www.snowmath.com


https://www.snowmath.com

()
é Qﬁ(@ neljd murtolukua, toimintojen jarjestys

Paivamaara: Pisteet:
1 13 1 143 1
— = . = — —_ = + —= — = —
1° 7 0 00x3+6+35=%577%
2 3 23 5
Cex - +]= IxZag-2=2232
6> 7 0 3273 -6 7%
3199 19 2 3 2 3 7
—_ = . = 2__ —_— —F = X — = —
2790 ‘9 3 535 15
3113 3 1 28 1
2~ T30 8x373%373 793
o181 1 1 1 1 1 8
—_ = = 1__ —_F — X —4 — = =
3 180 180 2737673 9

www.snowmath.com



https://www.snowmath.com

